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Transforming functions

1- The diagram below shows the graph of a function f(x), for -2 <x < 4.

Copy the graph. Draw these functions on the same ]

axes. )

(@) f(x)+3 () f(x)—4 *

©) f(x+5) dfx-2) mr 41 3 YR

() 2f (x) () f 2x) _1

(@) f ) ()~ f (9
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2- Consider the graph of f(x) shown below.

On the same grid sketch the graph of

(@ y=f(=x

Functions g, h, p and q are transformations of f(x). Write each transformation in terms of f(x)
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(b)y =-f(x)
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3- The diagram below shows the graph of a function f(x), for -1 <x < 4.

Make separates copies of the graph and draw the function after

each transformation.

(@) f (x) +2 () f(x+2)
(©) f (=) (d) 2f (%) 1 I,

_/
©f(x—2)+3 () £ (2x) /

4. In each case, describe the transformation that would change the graph of f(x) into the graph of g (x)
@fx)=x, g(x)=—3x+2
b f() =2 g)=(x=3)
©f () =x" g@)=—x)’

(df@)=x gx)=x-3)+2
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Solutions
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©fx+6)-2 dfx-1) @) f(1.5x) BOfx)+1
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4- (a) Vertical stretch SF 3, reflection in the x-axis, vertical translation 2 units upwards.
(b) Horizontal translation 3 units to the right.

(c) Reflection in the x-axis

(d) Vertical translation 2 units upwards, horizontal translation 3 units to the right.
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